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Natural Resource Conservation and Policy 

*Conservation, viewe
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Recognize the complexity of our resource problems; that �
there are often no simple answers and there is no free �
lunch-all decisions have consequences. �
Recognize the importance of our philosophy in �
determining both the types of environmental problems we �
are likely to confront and the types of solutions we are �
willing to consider. �

Recognize 



100 

I 

Grading Polic9 
Zeros play havoc with the total number of points received in the semester. Each year, 15% of the students in this course 
receive an F, and inevitably they 



The Difference Between Research 
Universities & High School or Community 
Colleges 

At high schools and community colleges, faculty are not 
expected to do research and virtually none of their 
institution's income is derived from research. Teaching is 
their focus. 

But at a university, the majority of the capital and operating 
costs come from research grants. The primary purpose of 
research universities is to conduct research. Teaching is a 
side benefit. This arrangement has worked for centuries to 
push the envelope of knowledge while at the same time 
training the next generation of researchers. These are also 
considered to be higher caliber institutions for learning; a 
degree from a research university is generally more 
prestigious than one from a non-research oriented college. 

As a result of this research focus, most faculty in the sciences 
have 80-90% research appointments and just 10-20% 
teaching appointments. Even if the professor wants to spend 
more time teaching, slbe is not being paid to do so and must 
still complete the research that is required. If you sometimes 
feel that professors do not spend enough time with students, 
please be aware that many of us would lijn8el0 Td
(
(with )L2.49 0 Td
(lijn8el0 T9.00es7 Tc 1.8589l0 oe9s772 0 0 9.2 222.77/s2)Tj
0 Tc 2.214 0 Td
589y[ g33Tc i2Tg33Tc29 504.737 Tc 1.85892.283 0 Td
(teaching, )Tj
0.0119 4
-0.082 0 Tdu(not )Tj
0.0139 Tc 11283 0 Td
(teachhat )Tj
0..008 Tc 3502 0 Td
d
(one )Tj
0.2357 Tc 2.184 0 Tcanm
(not )Tj
0.0139 Tc 8.558 0 Td
githan )Tj
050139 Tc5532.49 0 Td
(lijn8e180162 Tc 9.Tc 1.858u
(arjust )Tj
-0..008 Tc33.082 0 Td
(the )Tj
0..008 Tc -8.938 -1.159 Tc
(msany )Tj
0.05 Tc 10.3985 0 0 98Tc 4.35Tc i2T7 Tm
(of)T188 Tc 9.2 0 0 993.35Tc i2T7 Tathe )Tj
0..008 Tc 0.082 0 Td
(university )Tj
-00112 Tc418839 0 Td
(lijn8el0 T0.0076 Tc 1.791 0 Td
isege. )Tj
EMCSp(th/P <</MC7D 6 >>BDC 
0.0158 -Tc 132757 -1.608 TR
(research )Tj
06119 4
-3.112 0 Tpaysust )Tj
-0..008 Tc 57082 0 Td
(the )Tj
360139 Tc 23839 0 Td
on'ents aware of 

the s t s i n g ,  m o s t  t h e  ilitiences l i j T j 
 - 0 . 0 0 2 8  T c  5 . 0 3 4  0  T d 
 ( t h e  ) T j 
 0 0 1 5 4  T c 5 0  T c  1 . 8 5 v a l u e i l l  

lijn8el05422 Tc 9.2 0 0 9.54163.725.7.49 Tm
(rge. )Tj
EMCSp(th/P <</MC8D 6 >>BDC 
030126 78el7 2 20.0170 Tdiplomaces )Tj
21.008 Tc601.19 0 Td
(and )Tj
030158 Tc  2.66 0 Tcertainlyus, l i j T j 
 - 0 . 0 0 2 8  T c  8 0 3 4  0  T d 
 ( t h e  ) T j 
 0 1 5 1 3 9  T c  2 . 7 6 1  0  T d b i l i t m a n y  









•••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••• 
Eeo-Footprint Background Info (questions from this will be on thejirst test) �

To overcome this sustainability challenge, we need to do a wide range. In some countries, the average is as low as 0.5 hectares 
better job of budgeting our planet's limited resources. Nature (1.2 acres), while others use as much as 13 hectares (32 acres) per 
provides an average of2.1 hectares (5.3 acres) of biologically person. Even within any given country, individuals' footprints vary 
productive space for every person in the world. By 2050 that widely. 
available space will be reduced to 1.4 hectares (3.5 acres) per By more carefully tracking human impacts on the Earth's resources, 
person if predictions of global population are accurate. Also, we can learn what needs to be done in order to protect our natural 
some of this area must be set aside for the estimated 10 assets. We can all be part of the solution. Together, we can reshape 
million other species on the planet. the global economy in a way that will allow all people to meet their 
On average, people use 2.8 hectares (6.9 acres), but there is a essential needs without destroying the limited capacity of our 

planet. 

Average Footprints by Country 

United States 

canada 

Australia 

Japan 

Germany 

Russia 

Italy 

MelE!co 

China 

Nigeria 

India 

Afghanistan 

Bangladesh 

0 5 10 15 20 25 

Acres per capita 

If the world were a village of 100 people ••. 
These statistics give us a wider perspective on the state of the world and the pressure on natural resources worldwide. For most humans, things 
like parks and recreation are unthinkable luxuries. Clean water is even beyond their reach. Ifwe 9 n d  

wllage 44ach. 
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Assignments on Leopold's A Sand County Almanac (SCA) �
I ••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••• 

A. Discussion Sessions 
�"�O�;�t�b�;�.�~�~ �F�r�i�d�a�y�~�-�;�e�-�;�f�i�T�h�-�;�;�~�-�d�i�S�c�~�~�i�O�~�s�e�c�i�i�-�o�n�s ..�;�;�~�- A Sand --'-subJect to the �l�a�t�e�p�a�p�e�~�p�o�l�i�c�y�(�I�e�:�-�n�-�;�;�"�~�t�"�i�a�t�i�;�;�;�-�;�;�-�i�s�g�i�;�e�; ..iT-.. 
County Almanac. These sessions provide an opportunity for you miss the discussion session, UNLESS you were 
student participation and discussion of this influential work seriously ill). 
and they are spaced two weeks apart so that we have time to 
grade the papers before you write your next one.. You will 
have the same room and the same group leader for all three 
sessions. In the next few weeks, we will assign each student 
to a group and a room. 

I will ask everyone to let me know if they prefer a room on 
Main Campus or West Ridge. Two discussion groups will 
meet on Main Campus and two on West Ridge. 

1) a paragraph from your paper which you will turn in 
at the end of the discussion and 

2) a passage from SCA (for this passage, you must 
choose a different essay than the one you chose for 
your paper). 

Attendance is taken at each discussion session. Unless there 
is a problem with the assigned room (such as another class in 
the room, which HAS happened), you must be present in the 
first 10 minutes of discussion to be counted as present If 
there IS a problem with your assigned room, don't panic. 
You will not be penalized for someone else's mistake. If you 
do not know where the room is, please try to find it in 
advance so you do not miss the first session.. Ifyou do miss 
one, it will 

be 
(pssion )Tj
-0.001 Tc 3.555 0tovance mi-up"(with )Tj
-0.0154 T842.706 0 Td
(the )Tj
0.0032 Tc 1.074 0point
(miss )Tj2
0.0352 7c 1.547 0 Td
(for )Tj20.0066 Tc8373.013 -1.135aTd
(Attenirst )Tj
-0.033 Tc 6.0685 0 0 95 T8 Tc .475.64..
(for )Tj20.0061 Tc 9.4 0 0 09 Tf
Tc .475.64Howeverned), 

you so will w h e r e  

the 





Have we lost our connection to the Earth? 

If we have, is that good, bad, or neutral? 

1. � Thoreau tried growing a 


